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1. Four resistors of resistance R each are .connected in' parallel. The effective resistance is

(A) 4R (B) 4
R

~R
4

(D) 2R

V'6U Q GlJIT6'o1!P1Ul R u516'o1!5"" L"" tlJ "-"" LtlJ 11IT6'01@) u516'o1!5"" L tlJ IT8;$1 16ffi u8;16 @",,_LJl51Gil "- ffi6IT <O!T,

@6UGlJ""l1lU L516'o1Q!5 IT@)U tlJ 6'01 u516'o1!5"" L

(A)

(C)

4R

R
4

(B)

(D)

4
R

2R

2, Which one of the following is a powerful reducing agent?

(A) P20S (B) P205

,..,JIff HSP03 (D) H3P04

.$ ~8;16"'" LGlJ !D!PI ffi '" ~ 1fl!D)i;!5 V' G' 8;@) Ul 16~ 6llOfI?

(A) P20S

(C) H3P03

(B)
(D)

P,o-- ,

3. Which one of the followinggives anisole on heating?

(A) C6HsONa + CHsOH

(B) C6HsOH + CH,CI

VI!f' C6HsONa + CH3I

(D) C6H) + CH30Na

L516'o1GlJ('!J GlJ6lfTGlJrb !PIffi '" !5",,6lfT QGlJU UU UG'i5ib16lfTITGil <!916011Gil' ITGil $1"" L8;@)Ul ?

(A) C6HsONa + CHsOH

(B) C6HsOH + CH3Cl

(C) C6HsONa + CH3I

(D) C6HsI + CH30Na
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4. Pick the odd one out:

1. ATP

2. FAD

3. NAD.

4. EMP

$' 4
•

(C) 1

Adenosine Triphosphate'

Flavin Adenine dinucleotide

Nicotinamide Adenine dinucleotide

Embden Meye-rhofparnas

(B) 2

(D) 3

1. ATP

2. FAD

~"l- G61lTIT61lT'IfGrrL61lT~U ITQuGu L

U Gill 6\\lGrr ~"l-61lT 61lTm 61lTL ibI !!d,';; ffi1G lU IT61lTL Gi

3 . NAD . ibIG1W"l-61lT61lTLDGi ~"l-61lT 61lTm 61lTLibi \!,j,.;;ffi1GlU IT61lTL Gi

4.. EMP .HoLm GLDlUrTlilIDITU UITrT61lTITQu

.-~6lJiDr6k\) 61"191i06O\l~i91 ibIiD.$1!Di9I?

(A) 4 (B) 2

. (C) 1 (D) 3

5. Advanced family of monocotyledanae is

(A) Musaceae

(C) Solanaceae
(B). Poaceae

Vil'fr Orchidaceae

~(!lj 6lSl~~61lT6U iOIT6lJ~H @iGilbu~~@ GLDlbuITGi ~61lTL)i;iO @iGilbulb

(A) t.6l\!,j,GlU61 (B) GUITGlU61

(C) QIfIT6UG61lT.ml (D) ~rT.;;.$1GL.ml

.
6. Binomial of'Vilvum' is

. (A). Acalypha indica
(C) Cissus quarangularis

6lSl@6lJlb iOIT6lJ~~~m ~(!lj QIfITiD QUlUrT

(A) ~,"IT6\\l U IT~';"-"l-,"IT

(C) 6llfQu @i6lJITL~ITffiJ@i6UmT1Giu

~ Aegle marmelos
(D) .Mimbsa pudica

(B) 6J.$1@ LDITrTt.6l6UITGiu

(D) 61lTLDG LDMIT kJ."l-'"IT

AAGS/19 4



7. In 19th century population explosion occurred due to
(A) discovery of vaccination

(B) discovery of antibiotics

(C) uncontrolled reproduction

.., discovery of vaccination and antibiotics

19 ~t.D lJ)JTJDJDIToo,,!-GUlD8;ffiQr QIbIT""ffi QU(i98;ffit.D ~ur\lu5llblDIT6151IbJD@jffiIT~_t.D

(A) IbGiu~lfIffi.-rll6;Y ffiOOGit51l<j-ULj

(B) lD(i9,l5i91ffi.-rll~ ffiOOGit51l<j-ULj

(C) u511bu51l@5lf1lU.@6151UQ U (i98;ffit.D

(D) IbGiU ~1fI lDJDIPIlb lD(i9,l5i91ffi.-rll~ ffiOOGi t5Il<j-U Lj

8. Who is the writer of the book 'I DoWhat I Do'?

-
(A)

(B)
~
(D)

Jairam Ramesh

Satya Nadellg

Raghuram Rajan

Helen Cooper

'I Do What I Do' 6T~JD Lj~lbffi~ibI6<l61516T~ibIlU6Un- lUITn-?

(A) Q1£tU~ITt.D ~ClD~

(B) "'~lUIT )DITQIbGU6IJIT

(C) ~@j~ITt.D~IT1£~

(D) . Q~6IJ~ Iffi.lJUn-

•
9. How many soldiers came from South Korea coastal gaud team in ship patharon during the

year April 3018 for Joint Collaborative training with Indian coastal gaud?
(A) 83

$ 88

(B) . 85

(D) 98

'ifU~GU 20 18 ~t.D ~ooGi .@i5ib1lU ffiLC6IJIT~ ffiITGUGUU6<lL"iL6151IT6151Iffi.L.GiuuuS1JDIfluS1GU UffiJCffiJDffi 6Ui51b

UIbITC~IT 6T~JD QIb~QffiITr\llU ffiITGUGUU6<lL8; ffiuu61SlGU6T~Ib6<l6151~~n-ffiQr GU,l5Ib6151n-?

(A) 83

(C) 88

5

(B) 85

(D) 98

AAGSI19
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10.' Which of the following won UNESCO Asi~ Pacific Award of Merit 2017'1

(A)

~
(C)
(D)

Meenatshi Amlnan Temple, Madurai

Sri Ranganadhar Temple, Trichy

Ramanatha Swamy Temple, Rameshwaram

Brihadeeswarar Temple, Thanjavur.

tSl6N@J(i9@J6l5T@J!DiJ)J""lLjQ 6l5TciuG" fT6lSl6N~If! LLJfTUIf!tSlli;6lSl(i9~'. 2 0 1 7 -m Q@J6NJDG" fTWIru Gr~ ?

(A) tIl6l5TfTLIf! ~ U:llD6NG" fTu51ru, lJl~ 6<l~

(B) . ~~ffiJ"flifTibIT G"fTWlru, iIiI(i9/f1f!

(C) @ ~fTlJlflifTib"@JfTuSIG"[Tu51ru, ~fTGlJlciuQJ~til

(D) tSl~,,~ciu@J~IT G"fTu51ru, ib~lffT@J>IT

11. How many countries signed the Paris climatic change conference on December 2015?

(A) 192 (B) 162.

~ 198 (D) 168

"l-IflJlU fT 2015, U fTrr.mlru fli6<lLQU!DJD u(i9@J~6<l6lJ . lJlfT!DJD~6<lib ib@li;@)til IfIT@JGibif 9u u)i>ib~ililru

6<lg;QLLJQ!l~iIiILLflifT@""" Gr~ib6<l6l5T?

(A) 192 (B) 162

(C) 198 (D) 168

12. Who is the winner of II th World Billiards championship in 2016?

(A) Mukesh

(B) Peter Gillchrist

(C) John.Thomas

~ Pankaj Advant

2016 @ru fli6<lLQU!DJD11@J~ "-.6lJ" tSlru615lLLJITLciuIffTtiltSlLLJ6N~U ULL~6<lib Q@J6NJD6lJITLLJfTIT?

(A) QPG"<4

(B) . t5LLIT .$16\).$1rTlciuL

(C) 1)lfT6NibfTlJlciu

(D) uffiJ,,~ ~~@JfT6IlII

AAGSI19 6



13. Name the proteins which are caused for the functions and operations of Methano trophic
bacteria. Choose the correct answer

(i) MbnB

(ii) MbnA

(iii) MbnC

(iv) MbnD

(A) (i) and (ii) are correct

\/JIIf. (i) and (iii) are correct

(C) (i) and (iv) are correct

(D) (iv) only correct

Q lD~il'G6llTITL~ITt5l8;UIT8;",-illUJIT8;"cli6irr Q IfUJGilU IT~"(58; @) "IT1J6WflDIT6llT Lj~ il'ri.J"m '"QlQj? iJITlUJIT6llT
61SlQlLQlUJGil'r'r6l.jQlfuJ"

(i) M bnB

(ii) M bn A

(iii) M bn C

(iv) M bn D

(A) (i) lD'JD!!JILD(ii) lfillUJIT6llTQlQj

(B)' (i) lDJD!!JILD(iii) lfillUJIT6llTQlQj

(C) (i) lDJD!!JILD(iv) lfillUJIT6llTQlQj

(D) (iv) lDL~LDIfITlUJIT6llTi9I

14. When the Tiangong-1 was disconnected the communication signal from the control station of
china? I

(A)

(C)
21" April 2016

21" February 2016

(B) 21" May 2016

..",. 21" March 2016

(A) . 21 G.n~~Gil 2016

(C) 21 t5lu~Qjill2016

7

(B) 21 GlJ)2016

(D) 21lDITr'rif2016

AAGS/19
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15. Match the follC!wing:

Some organisations which are ,:,nder controlled by the ISRO

(a) Vikram Sarabai space centre 1. Ahmadabad

(b) ISRO satellite centre 2. Tiruvandrum

(c) Space application centre 3. Sriharikotta

(d) Sathish Davan Space centre 4. Bengaluru .

. (a) (b) (c) (d)

~2 4 1 3.
(B) 1 4 3 2

(C) 4 1 3 2

(D) 3 4 2 1

mllllJ IT6'OTQJ rDO<lJD G U IT<'9~i!jIffi :

ISRO 6lSIfM&19 GlfllJGUuGhb 616\l C'P8;$lllJ ~O<ll1lUL..jffi.rr

(a) 6lSI8;1JU:lIfITIJITUITLiJ.ruG:u.ru GlffMLlT 1. ~ffil1l~ITUIT~

(b) ~.ruG:IJIT IfITL"l-O<l6\lL GlffMLlT 2. ~ <'9QJ6'OTib~L..j1JU:l

(c) .ruG:u.ru ~ uffilG:ffiQ.'j>fMG IffMLlT .3: ~ ~ITIG:ffiITLLIT

(d) If~~ ~QJITfM .ruG:u.ru GlffMLlT 4. Gurlilffi@'j<'9

(a) (b) (c) (d)

(A) 2 4 1 3

(B) 1 4 3 2

(C) 4 1 3 2

(D) 3 4 2 1

16. Pradhan Mantri Jan Dhan Yojana scheme was started in the year of

(A) 2016

~ 2014

(B) 2015

(D) 2013

(A) 2016

(C) 2014

AAGSI19 8.
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17. The highest peak of the Aravalli Range is

(A) Kalsubai

(B) Mahendra Giri

." Gurushikhar
(D) Nanga Parbat

(A) a;rr6UffiUW

(B) lJ)G~.di:il ~ it1rrl

(C) @j("j6lI6ITIT

(D) )!i "" 16U IT6lJ:2;

18. Which one of the followingis not an area of sparse population distribution

(A) The Atacama

(B) Polar region

.,JIiIf' South East Asia

(D) Sahara

t5l@6lJ("j6lJ6l5T6lJWIDJ6Tr6f~ @j""lD6lJIT6l5TlJ)8;I66TrQIOIT",,16U ~6lJGilQ I6IT<mL U@j:il ~ Gil60

(A) ~LLI6ITlJ)IT

(B) ~("j6lJ U@j:il166Tr

(C) QIO@ $l~8;@j ~61l1JIT

(D) IfI6IT~IT

19. The Bramaputra river originate in Tibet and is locally known as

\lflii! Tsangpo

(C) Ghagra

(B) Dihang Dibang

(D) . Son

t5l~tblJ)Lj:2;:iI ~IT~IDJ ----- 6f@lD Q U l1J("jL@ :ilQ u:2;:ilGil"-("j6lJ IT$llD~.

(A). IfIT""GUIT (B) :il16rr"" :ilUIT""

(C) I6IT8;~rr (D) Glfrr@

9 AAGS/19
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"'

20. Who encouraged the composition of a great musical work called Man Kautuhal?
(A) Amir Khusrau

(B) Firoz Tughlaq

~ Raja Man Singh
(D) Pir Bhodan

. "11l6irr/h6li~i9I/h6U" 6f6irrlD@0<l"!9JT6U Qi!iIT@58;/hGU(!9i!i6lS1 LiITI)i;i!iGlJrTUJITrT?

(A) .~u51rT @;ciu(!9

(B) QuG~ITciu i918;6rr8;

(C) ~IT!JlIT11l6irr6lffiJ

(D) QrT GUITi!i6irr

21. Whowas repaired the Jama Masjid and Qutb-Minar ofDelhi Sultan?

(A) Balban

~ Firoz Tughlaq
(C) Alauddin Khilji

(D) Muhammad bin Tughlaq

!Jl"tbl1lIT 11l@;~ 11ltil!!JItb @5i91uu5I6'TITrT6f)i;i!i Q uuG\\1 /h6Ui!iIT6irr/hITQ)~~ 6ULii91U L518;/hUU LLi9I?. .
(A) UIT6Uu6irr

(B) L51G~ITciui918;ffi8;

(C) ~Q)IT6li~6irr 1t16U1Jl1

(D) (Yl/h 11li91L516irri918;ffi8;

22. Mohenjodara is the largest city. It is estimated to have spread over on how many hectares?

..A'" 200 (B) 150
(C) 300 (D) 175

6l)i;i9IQGlJ.rrl I5ffi~ffiJ/h.rrl6U u51/huQuITIUJ. 15/h~l1lIT6'T Ql1lIT/h~"ITI5ITG~IT 6f~150<l6'T Q~8;GLrT U~UO<lU8;
Q/hIT.,m-Li9I?

(A)

(C)

AAGS/19
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(B) 150
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23. Who was called Sungam Thavirtha Cholan?
(A) . Raja Raja Chola
(B) Karikala Chola

~ Kulottunga I
(D) Uttama Chola

•••ri>J"tD:2i6lllir~iD GlfITWo;m86M <!9I~W8;"UU(i)1U6Uir

(A) @~fT1Jl~fT1Jl GlffTWo;m

(D) "rf1"'T6\l GlffTWo;m

(C) (lP:2i6\lfTtD(IljG 6\lfT~ii)l ri>J"o;m

(D) "-~iDLD" GlffTW6irJ

24. Which Amendment also known as the "Nager Palika Aet"- provides for setting up three
types municipal bodies?
(A) 73,d Amendment

~ 74th Amendment
(C) 75th Amendment
(D) 76th Amendment

. 8)i;:2i <!91~"hu 6U <!91~ LDU '-Iii> iblC'91i>:2itD )D" ir u fT6151"fT IfL L tD 86M <!91!!ShuU u (i)1tD ey>6irJiJ)I 6U~" llJ fT6M )D" ~ fTLIf1
<!91~ LDU '-I"ffi <!91~ LDllJ 6U~ 6U~" G /flU :2iii)l'

(A) 73~6Uii)l iblC'9Ii>:2i"5LLtD

(B) 7 4~6Uii)l iblC'9Ii>:2i"5L.LtD

(C) 75~6Uii)l iblC'9li>:2i"/fl: ..LtD

(D) 76~6Uii)l iblC'9Ii>:2i"IfLLtD

25. Jammu and Kashmir \vhich has a separate constitution for its Government under Article
(A) Article 337 ~ Article 370

(C) Article 356 (D) Article 351

6lIlibl 370

6lIlibl 351

(B)
(D)

8)i;:2i <!91~If1llJ6\l." LDU'-I 6lIliblu5l6irJu "l- 1JltD(lP LDIDiJ)ItD 8ifT~Jiir LDfT)£I6\ltD<!9I:2iIDQ,,6irJiJ)I:2ieITI<!91~If1llJ6\l."LDU." U
QUrDiJ)IffiGTTii)l

(A) 6lIlibl 337

(C) 6lIlibl356

11 AAGS/19
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26. .The chairman of the drafting committee o(the Indian Constitution

(A) Dr. Rajendra Prasad .JJJIf Dr. B.R.Ambedkar
. (C) Jawaharlal Nehru (D) Mahatma Gandhi

@~~llJ <9Ig61llJQJdlj""LDuL51rn QJ""gQjffi@)@ ib""ruQJgITB; @@~ibQJrr

(A) LITffiLrr. gITG1B~~g L51glflT~ (B) LITffiLrr B.R. dljLbGu~B;ITrr .

(C) 1BQJ~rrruITQJ GJD@ (D) LDB;IT~LDITB;1T)i;~

27. The Balwantrai Mehta committee was appointed in

(A) 1955,

(C) 1951

(E) 1954

~1956

(A) 1955

(C) 1951

(B) 1954

(D) 1956

~30

(D) 60

(A) 40

.(C) 50

28. Article -----of the constitution grants rights to minorities to establish educational
institutions.

(A) 40

(C) 50

(B) 30

(D) 60

29. Howmany Union Territories are in India?

.>JJI/' 7
(C) 5

(B) 6

(D) 4

(A) 7

(C) 5
(B) 6'

(D) 4

AAGS/19 12



30. Match it :

(a) Adam Smith 1. Welfare definition

(b) Alfred Marshall . 2. Monopolistic competition

(c) ,JR Hicks and RGD Allen 3. Wealth definition

(d) E.H. Chamberlin 4. Indifference curve

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 4 3 2 1

~ 3 1 4 2

(D) 2 4 1 3

QUITC'9ii>i9'ffi.
~

(a) qj,LLD 0u uSlii> 1. )!i<ll .@6118iffi_LD ~

(b) qj,GU t5I ~LLD ITIT6l.'iGU 2: C!P Ii>J!)I r\l6<)LDGu ITl:-Lq.

(c) JR (i!l6I8i0u LDIi>J!)ILDR G D qj,6116irr 3. Q/fGUQJ .@6118;ffi_LD

(d) E.H. G/fLDuiTQ\l6irr 4. /fLDG)!iIT8;@i QJ6<)6TTGffiIT(ij\

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 4 3 2 1

(C) 3 1 4 2

(D) 2 4 1 3

31. In which year the national population policy was introduced?

(A) 2015

(C) 2045

(B) 2020

$' 2000.

(A) 2015

(C) 2045

(B) 2020

(D) 2000

13 AAGS/19
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32. Steel Industry is popularly called as

(A) Oldest industry

(B) Traditional industry

...fIiIf" Mother industry

(D) Private industry

&'i)@Ull.i,GToOo@j~QibITl91ill ------GT""(!)I ~..,,~"&uu08i1(Di'JI.

(A) U~""LDlUIT6'OT~QibfTl91ill

(B) LDrTl.i~QibITl91ill

(C) ibITuJ~QibITl91ill

(D) ib60lllUITITQibITl91ill

33. Rearrange the stages of economicgrowth:

1. The mature stage

2. The take off stage

3. The age of high mass consumption

4. The traditional society

.5. The transitional society

(A) 3, 2, 1, 4, 5

(C) . 1, 4, 3, 5, 2

..J1!( 4, 5,2, 1, 3
(D) 2, 3, 4, 5, 1

1. QUfT@WfTibfTrTC'P~IT581"&IT6'OTQiflU~"&Ul

2. QUIT@WrfibITrTGLDQ6ll@ibI..,,6ll

3. QUIT i'JILD"&ffil",, GU rTW6lj i9I &IT581,,& fT6llLb

4. U ~.." LDlUIT6'OTifC'PibITlU~.." LDUl.i C'P"" (D

5. LDIT(!)IUl ibI..,,6ll u5lill "- Girm ifC'PibITlULb

(A) 3,2, 1,4, 5 .(B) 4,5, 2, 1,3

(C) 1,4, 3, 5, 2 (D) 2, 3, 4, 5, 1

AAGS/19 14



35. Which commission was drew the boundary line separating India and Pakistan?

...,;,Iff Radcliff Boundary Commission

(B) Kothari Commission

(C) John Simon Commission

(D) Thomas More Commission

~)i;~IlJIT-ulT$1oiu::OlTrn6rQ>Ql6\lQlIlJ6UQlgllJl!)I8;@jLb~Ql_IlJLb 6r~?

(A) gITL$1OO1u~Ql_IlJLb

(B) G"'ITP;::OITIT!~Ql_IlJLb

(C) ~lTrn Qllflllrn ~Ql_IlJLb

(D) ::OlTllloiu(Lilir~Ql_1lJ Lb

15 AAGS/19
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(B) 72

(D) 73

36. What should come in place of the question mark in the following series?

2,6,14,30,-1-,126/62.
(C) 63

2,6, 14,30,-1-, 126

(A)
(C)

62
63

(B) 72
(D) 73

37. The value of x in

2: x : x : 32 is

(A) 64

(C) 30

(B) . 34

~8

L51.mruQljUru ib!PIGir x -.m LD~ UL.j61".m••.•?

2: x: x: 32

(A) 64

(C) 30

(B) 34

(D) 8

(B) 4 mm, 8 mm.

(D). 8 mm, 5 mm(C) 9 mm, 12 mm

38. A five rupee coin and a ten rupee coin are placed such that they touch each other. Sum of
their areas is 117 tr mm2 and distance between their centres is 15 mm then radii of both

coins are respectiveli

.~ .6mm,9~m

9Qlj 1£lbi9J (lljUITtiJ )!JIT<mllJ(lpUl, u~i9J (lljUITtiJ )!JIT<mllJ(lpUl. 9.m6>llDQllJIT.m!PI Qi&IT0.$liDITibGuIT6U

6>lru8;ffiuuL0Girm ••.•. <!9IruibtDi.mu~uum6l1ffiffil.m ""-0i&6U117 tr mm2 61"••.•6l1Ul<!9IruibtDi.m6>lLDllJrliJffi~8;@)

@6>lLUULL i9JT~Ul15 mm 61"••.•6l1Ul@QljuL5I.m <!9I6iJ6lSIQlj)DIT<mllJrliJffiffil.m.~~rliJffiGir (lp6>llDGllJ

. (A) 6 mIl)., 9 mm

(C) 9 mm, 12 min.

(B) 4 mm, 8 mm

(D) 8 mm, 5 mm

AAGSI19 16



39.. The measures of the angles of a triangle are' in the ratio 5 : 4 : 3. Find the angles of the
triangle

(A)

(B)

(C)

~

65° 60° and 55°, .

. 85°, 50° and 45°

75°, 70° and 35°

75°,60° and 45°

9@ (lJl8;G"IT-Ii~GN (LPGNI!JIG"IT_ffiJ"ffi1GN 6lS1ffi1~ffiJ"ffi5 : 4 : 3 Gr.,\1filG"IT_ ~GTT6l.I""'GTT8;"IT""'''.

(A) 65°,60° LDtiJ1!JILD55°

(B)' 85°,50° LDtiJl!JILD45°

(C) 75°, 70° LDtiJl!JILD35°

(D) 75°,60° lDtiJl!JILD45°

40. The diagonal of a square is 20 em. Find its perimeter.

'.

(A) 20./2 em

~ 40./2 em

• (B) 54./2 em

(D) 56./2 em

(A)

(C)
20./2 G"tE.

40./2 Q".tE.

(B) 54./2 G"tE

(D) 56./2 Q".tE.

41. A man is walking at a speed of 10 km per hour. After every kilometre, he takes rest for
5 min. -Howmuch time will be take to cover'a distance of 5 km?

(A) 35 min '\fI!If' 50 min

(C) 55 min (D) 40 min

9@QJIT LD.mI8;@i 10 ffi1.tE GQJ,,~~fil )!lL)i;~ Q"filffi1J]JITIT.9GUQQJIT@ ffi1GGuITtEL...L",,~ "L)i;~t9GN

5 ~u51LffiJ"ffi ~tiJ6l.I Gr(1\8;ffi1J]JfTITGr.,\1fil ~6uIT 5 ffi1.tEi!jJT~Ii"'~ GrGUQJGTT6l.IG)!l~Ii~fil "LUUITIT?

(A) 35 ~u51LffiJ"ffi'

(C) 55 ~u51LffiJ"ffi

17

(B) 50 ~u51LffiJ"ffi

(D)' 40 ~u51LffiJ"ffi

AAGS/19
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42. . When two dice are thrown what is the probability of getting a doublet (same number on both
dice)?

(A)

(C)

1
36
1
12

1
(B) 13

¥~

2 5 . "
L.C.M. of - and - IS

3 9

J v10
3

43. "

. (A)

(C)

(C)

1
36
1
12

10
18

(B)

(D)

(B)

(D)

1
13
1
-"
6

10
9 -
5
3

(A)

(C)

10
3
10
18

(B)

(D)

10
9
5
3

44. Ratio of surface area of a full sphere to the total surface area of a hemisphere having same
radius is .

.~ 4:3

(C) "1: 2

(B)

(D)

4 23:3
2: 1

~GIJ ~IJ ~QT6lj Qs;rrooL @@8; Gs;rrQT::!;~Qj LjjDUUIJUt51W@jLD,~"'IJ8;Gs;rrQT::!;~Qr QLDrr::!;i"u
LjjDUUlJu t51W@jLD"-'"' QT6lS1.$li"LD

(A) 4:3 (B) 4 2- -
3 3

(C) 1:2 (D) 2:1
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45 F. d h' If"h . ~5' x. III t e va ue 0 x III t e equatIOn 1 + - = 1 + -
.' 144 12

(A) .x = 0

(C) x = 2

$' x=l

(D) x = 3

~
25 1 x. ." . of) • . •+ - = + - "'6'OI!DifLD6'OIUITL"l-alx -6'01LD~,UL.1Im""-

144 12 . .'

(A)' x = 0

(C) x = 2

(B) x = 1

(D) x = 3

. .

46. In. 1998, the production of tea is 1584 million kgs. Which is 20% more than that in 1991?

Find the production of tea in 1991.

(A) 1270 m.kgs.

(C) 1410 m.kgs.

""" 1320 m.kgs.
(D) 1520 m.kgs ..

1998-Li>~.mGlG~u5Iooal ,,-Jbu~~ 1584 uSlGilGl5lUJ6i>T£IGQ)IT.£I~ITLi>~@jLi>.~~ 1991-Li>~.mGlG~u9ooQ)
"-iDu~~ooUJ QSIL 20% ~~B;Li> ~@jLi>. .,..,\1Gil1991-Li> ~.mGl "-iDu~~ QifliJUJUULL GiJiu51ooalu516i>T

~ ffi6lj .,.6i>T6'01?

(A) 1270 uSl.£I.£I.

(C) 1410 uSl.£I.£I.

(B) 1320 uSl.£I£1

(D) 1520 uSl.£I.£I.

47. If 20 men can build'a wall 112 meters long in6 days. What length of a similar wall can be

built ,by 25 men in 3 days?

(A) 40 meters

(C) 60 meters

(B) 50 meters

.$' 70 meters

20 ~LB;cir 6 IDITLB;ffi1Gil112 tli ~ffiQPcirffi8iruoo~B;L"l-QP"l-~iJiITGil25 ~LB;cir 3IDITLB;ffi1Gil.,.6iJruffi6lj~ffiif

8iru""~8;B;L"l-C!P"l-UUITIT?

(A) 40 tliLLfT

(C) 60 tliLLIT

.19

(B) 50 tliLLir

(D) 70 tliLLir

AAGS/19
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48. If a .lift is going up with acceieration, the apparent weight of a body is

(A) more or less the true weight
./

(B) equal to the true weight

(C) less than the true weight.

¥. more than the true weight

uSl ••• "-.lUrT~~, Cl1l6U CP;IT8;£1 (Yl8;ffiUU@L1:> CUIT~ l1l.,\1::o.,\1 ••• C::OITJDJDor<OJL

(A) "-.6O<r<OJ11l or <OJL<OJ 1U GlIlL -!>I~ ffiL1:>-!>I6U6ll~ @i<OJJD6tj

. (B) "-.6O<r<OJl1lor<OJL8;@i ifl1lL1:>

(C) "-.6O<r<OJ11l or <OJL<OJ 1U GlIlL @i<OJJD6tj

(D) "-.6O<r<OJl1lq<OJL<OJuJ GlIlL -!>I~ffiL1:>

49. Sound waves do not show the phenomenon of

(A) refraction

(B) interference

(C) diffraction

...;;III' polarisation

(A) GlIl6llffi6U

(B) .@ii!JI8;£@~6U

(C) 61S1mlL1:>~ GlIlmm6tj

(D) ~m GlIl<OJm6tj

50. The unit Ofmagnetic flux,

(A) ohm

(C) tesla

(A) 'ij>L1:>

(C) Quio6ll1T

-
AAGS/19

(B) volt

.$ weber.

(B) C6lJIT6UL

(D) Q6lJUrT

20



51. Which one of the following compound undergoes Cannizzaro react.ion?

.JIll' Benzaldehyde

(B) Acetone

(C) Acetaldehyde

(D) Both (B) and (C)

t516irr6lJ Qlj '" G"ITLD ffiJl'cl1 GiJGTi9IlD6irr 00\1"rrG ~ rr 61Il6!l6"OT8;@j "- LU 0'" ?
(A) Q U 6irr"rr GiJLq-6!lSMJ0

. (B) <&I81LGLrr6irr

(C) <&181L L rrGiJLq-6!lSMJ0

(D) . (B) LDJD!')IUl (C)

52. The compound which is used.to produce smoke s~en is

(A) HPOa .. $PH3

(C)

(A)

(C)
HP03.

PCl3

(B) .. PHa

(D) P20a

53. The vernacular name of this small herb with leaves sensitive to touch is

(A)

(B)
.~

(D)

Mimosa quadrivalvis

Mimosa microphylla

Mimosa pudica

Mimosa pellita

Q!1'rr0 "-_ITGlj u\\@j)i;!1'@6!lGUlDffiQlDrr.mL81!')1 Q"Lq-. @!1'6irr !1'rr6lJ~QuILJIT------~@jtb.

(A) 6!lLDGLDrr"rr @j6lJrrLG~.m@jGGUi\l.m

(B) 6!lLDGLDrr"rr 6!lLD8;G~rr:06!luGiJGUrr

(C) 6!lLDGLDrr"rr \d>Lq-lDrr .

(D) 6!lLDGLDrr"rr QuGiJ61S1LLrr
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54. Match the following

(a) Corpus luteum l. Testosterone

(b) Graafian follicle . 2. Inhibidin

(c) Sertoli cells 3. Theca interna

(d) Leydig's cells 4. Corpus albicans

(a) (b) (c) (d)

(A) 2 1 3 4

"""
4 3 2 1

(C) 1 2 3 4

(D) 3 4 1 2

.Gu IT (i9~i!jlffi

(a) ffiqrTUoro ~L"l-IULi:> l. GLoroGLqoro",-G~qrn

(b) 1E1~q•••t5llUrn :.uqQ\).;;1E1GiT 2. @rn~t5l"l-rn

(c) Q8'rTLGLqQ\) G8'QlffiGiT 3. ~';;ffiq @rnLrT ••m

(d) .o!'l-';; G8'QlffiGiT 4. ffiITrTUoro<&IQlt5lffirnoro

(a) (b) (c) (d)

(A) 2 1 3 4

(B) 4 3 2 1

(C) 1 2 3 4

(D) 3 4 J 2

55. Which year new rabies vaccine was discovered?

(A) 1905

(C) 1985

(B) 1912

.,fJIIf 1980

G~t5lffi';;@ii\l1U Y~1U ::o@ub:J,61LD(i9)i;i!jlor)i;::o~6liM@ .s6liM@t5l"l-';;ffiUULLi!jl?

(A) 1905 (B) 1912

(C) 1985 (D) . 1980
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56. Howmany countries participated in 21,t common wealth games held at Australia?

(A) 73

(C) 75

(B) 74

)$71

qj,Giu~ G~ Q\)tlJ ITGlSl<fu )!i<IDL QuiD !D 21 <Ol.J~ ffiITUl~Q <Ol.J<fu~ G U ITLL'lJIS1<fu Q UlIT~i" Ul '" ~i"<ID6liT )!iITG\ffiffi

U riuGffi!D!D6liT?

(A)' 73

(C) 75

(B) 74

(D) 71

~235.9

(D) 235.6

234.9

233.9

How many points secured by Ms. Manu Bhaker to win the gold metal in the junior world cup

during the year March 2018?

(A)

(C)

57.

. UlITIT'; 2018 qj,Ul qj,.mG\ )!i<IDLQU!D!D 1Jl-£i6ol1tlJ,;-~Q)ffi';; GffiITU<IDU GUITLLq-uS1<fuUlWJ UITffi';- '"~i"<ID6>T

yffirolffiffi QuiD1!)I i"riuffiUUi"';;ffi~6!li" <IDli;uuiDJ]516liTIT';-?

(A) 234.9

(C) 233.9'

(B) 235.9

(D) 235.6

58. When did the 23,d winter Olympics inaugurated at South Kore,a?

(A) 10th February 2018

(B) 9thMarch 2018

...JIIIf' 9th February 2018

(D) '11 February 2018

(A) ~u~<Ol.J1I110. 2018

(B) LDIT';-';9.2018

(C) ~u~<Ol.J1I19, 2018

(D) ~u~<Ol.JII111, 2018
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59. Who won the 2016 Stefan Edberg sportsmanship award?

. (A) Andy Murray

(B) Stan Wawririka

(C) Rafael Nadal

, ~ R~ger Federer

(A) ~6N"I- CY'rTC::~

(B) .mC::L6N ru6lS1IT1ri.J"rr

(C) ~oooC::u6iJ)!iLrr6iJ

(D) ?~rr~rT GUL~rT

60. Recently Indian Navy launched third submarine of Scorpene class named as

(A) INS Kalvari ~ INS Karanj

(C) INS Khanderi (D). INS Arighat

"tl'iu~6iJ ~)i>::IiIUJ "LdJU""L (Yl6NiDrrrui91 .m"rrrTGu6N ru"",,' ~rT CY'~£1 "UU""Q) ~(Iljrurr.;;£IUJi91 ~~6N I
GUUJrT

(A) INS ,,6iJrurrIT1

(C) INS "rr)i>~rrIT1

(B) INS "~6N1B

(D) INS ~IT1"rrL

6l. The Longest bone in the human body is

(A) Humerus (B) Spine

Vfl!f" Femur (D) Tibia

L1l6llll~~LQ\16N uSi" ~ffiL1lrr"", "-@!UlLj

(A) C::L1ldJ""" "-@!UlLj (B) CY'i91G "@! UlLj

(C) Glirr""L "-@!UlLj (D) "rr6iJ CY'6NG6OT@!UlLj
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62. ISRO has successfully launched navigation satellite IRNSS-li into. the orbit by which launch

vehicle?

(A) PSLV - C44

(C) PSLV - C42

~PSLV-C41

(D) PSLV - C43

PSLV -C41

PSLV -C43

(B)
(D)

IEU\)8'ITrT ~li.J6lS1iDIEIT6IlT Q8'tlJiD""IE,;;GIEITcir IRNSS-li -1£ 6lS1~Qruffi1 ruLLLjUIT""ib~Gil QruiDJDllEl)LDITIE. .
~ W6lS1tlJ(91?

(A) . PSLV - C44

(C) PSLV ~ C42

63. Name of the cyclone, which is worstly affected in Tamil Nadu on November 2018

(A) Wartha (B) Thane

(C) Oki $ Gaja

64. Blue whale is found in

(A) Arctic ocean

'(B) Pacific ocean

(C) Atlantic ocean

" Antarctic ocean

)t6ll ~uSlri.J1E6Iltb - IEIT6OIITUUG1ru(91

(A) ~rTtq.';; lELGil

(B) u61LS1,;; IELGil

(C) ~L6IlIT~tq.,;; IELGil

(D) ~~LITrTtq.';;IELGil
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...;/'oct 2011

(D) Dec. 2011

65. When was "Key attributes of effective resolution regimes for financial institutions" adopted
by the FSB (Financial Stability Board)?
(A) Oct 2012

(C) Nov. 2012

"~i!iI ~iPlGlJ...,ffiJ$l5ffi$IT"" u LUWJGlT6TT~irLDIT...,u:m..., ~L61 C'P""ID$ffil6irr C'Pffi$lLU !-J..mryffi ""-iPl$GlT" FSB (~i!iI
~"" 6\l:i;:,"6irr""LD@j@)-GlJIT6iJ 6fU Gu IT191'iT iDiPlffiQ $ ITGlT6TTUu LLi9I?

(A) 2012 <!'>IffiGLITUir (B) 2011 <!'>IffiGLITUir

(C) 2012 )DGlJUJuir (D) 2011''l-ifUJuir

66. At which day and year, demonetization was implemented?
(A)

(B)
VI'!f

(D)

August 8th 2016

September 8th 2017

November 8th 2016

October 8th 2016

u_ LDi!iIuy p;ffi$UJ - QlfLUGilUG\:i;:,"UULL)DITffi, ~OliorG\6fi91?

"(A) 8 ~$.roL 2016

(B) 8 QlfULUJUir 2017

(C) 8 )DGlJUJuir 2016

. (D) 8 <!'>IffiGLITUir 2016

67. The region where the Amazonand"the Congo rivers traverse is

\fIIf" Equatorial region
(B) Temperate region

(C) Polar region

(D) Subtropical region

<!'>IGLDlfIT6irrLDiDiPlUJ$ITffiJG$IT ~iPI$GlT urniJ$l6irr1D LDOliorL6\lUJ6fi91?

(A) yGlSlu5k"LffiG$ITLG\ LD..mrL6\lUJ

(B) .u5I:,"QGlJUU LD..mrL6\lUJ

(C) ~ (fljGlJLD..mrL6\lUJ

(D) 191""- Qruuu LD.m-L6\lUJ
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68. Strong hot wind blow during day time over the' northern and north west parts .of India are.
called as

(A) Mangoshowers

, Loo

(E) Monsoon

(D) Katabatic

.@Iii~ IlJ IT6lS\6\l 6lJ U;;@j lDtilIPILi>6lJ L G lDtil@j U @j~ u516\l Ga; IT'" L a; IT6\lili~ 6\l U a;6\l G)5 ~ili~ 6\l Gl'ia; Li>6lJQ\l." lDIlJ IT601

G 6lJUU 8;16ITtilIPI .@6\J6lJITIPI<!9j"'\j!8;a;uuGia1JDi9I

(A)

(C)
.(E) u(!Ij6lJ8;a;ITtillPl

(D) a;LLITUITLtq.8;

69. The sudden streaks of light seen on a starry night is called as

(A) Comet (E) Asteroids

$' Meteoroids (D) Dwarf planets

(A) 6lJIT6\l )5Llfili~~Li>

(C) 6frfl)5Llfili~~Li>

(E) @jlPlffilGa;ITGiTa;GiT

(D) @jGiTGTT8;Ga;ITGiT

70. Which Temple is considered as the last stage of the Pallava art?

(A) . Mandagappattu

$ The Vaikundaperumal Temple

(C) Varaha Mandapam

(D) The Kailasanatha Temple'

u6\l6\l6lJrT a;IT6\l8; a;Ltq.L8; a;"'6\lu51"" .@IPI~ i£1""6\l8;@j 6fGiilii918; a;ITLGi

(A) lD';"'La;uuLGi .

(E) "'6lJ@jliii!iGU(!IjLDITGiT Ga;ITu516\l

(C) 6lJ~IT~ lD';"'LULi>

(D) . a; ITi@;~ ."a;6\l ITIf )5 ITi!i Ga; ITu516\l
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71. Which chola king gave permission to the Sailep.dra ruler of Sri Vijaya to build a Buddhist
Vihara at Nagapattinam?

(A) Rajendra I

~ Rajaraja I

(C) Rajendra II

(D) Rajaraja II

J!i ITIliU U L"t-6OTii;~ 6il l..jii;1" LOLIT~ U..HD <&I"" LOd;1li .,- li>iJi G"IT!Jl LO6iIT60TIT ..""Gb\) Ii>~ ~ITIli~ d;@) .&i@lLO~
6lJ !Jlri.J$I6llTITIT?

(A) C'P1"b\)ITU:>~~ITGl£)i;~~6iIT

(B) C'P1"b\)ITU:>~~ITl£~ITl£6iIT

(C) ~~OOLITU:> ~~ITGl£li>~~6iIT

(D) ~~OOLiru:> ~~ITl£~ITl£6iIT

72. Parantaka I, the son of Aditya I defeated the Pandya ruler and took up the title
V!ff'Madurai Rondon . .. .' .. .. .

(B) Mudi Rondan

(C) Radaram Rondon

(D) Jayam Rondan

C'PiJib\)ITU:>""<h~ ii;1" G"ri!Jl6llTl6iIT LOIli6iITC'PlOb\)ITU:>U ~ ITli>I"IliQr, U IToo"t-lU LO60T6llT.."~ GI"ITlDlli"t-ii;ibl" IT6il Q U lD!D
ULLU QUlUIT .,-Qr6llT?

(A) ..LOi9Iro~ QIliITOOLIT6iIT

(B) C'P"t-d; QIliIT";"'LITQr

(C) IliLIT~U:> Q IliIT";'" LIT 6iIT

(D) Ql£lUU:> QIli~";"'LITQr

73. In which year first battle of Panipat was fought?

..(A) 1536 .... ~ 1Q26

(C) 1506 (D) 1516

C'P~6il U IT6llTIU L.. Gu ITITJ!i"" L Q U lD!D""<h.,;.,.(jj\

(A)" 1536

(C).. 1506
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74. The minimum age required for voting inlndia?

(A) 21

(C) 25

(B) 30"18
(A) 21

(C). 25

75. India has an area of how many sq.km.¥ 32,87,263 sq.km

(C) 35, 75, 863 sq.km

(B) 30

(D) 18

(B) 16,87, 263 sq.km

(D) 30, 26, 863"sq.km

~)i;~IU )!ifTL"t"" )£kuuu @i~ "'":iii!i6-oJ6OT/fi9llJ .$lGG\J fTIDLUT ~@i lb

(A) 32,87,263 sq.km (B) 16,87,263 sq.km

(C) 35, 75, 863 sq.km (D) 30, 26, 863 sq.km

76. Which rule is known as the heart and soul of the Indian Constitution?

(A) Rule 30

~ Rule32

(B) Rule 31

(D) Rule 33

(A) G@~ 30

(C) G@~ 32

(B) G@i5l 31 ,

(D) 6lSl~ 33

77. Which one is the third and important organ of the Government?

(A) . Legislature

~Judiciary

(B) Executive

(D) News and Publicity Dept.

~w/ffTri.Jffi~~"" eY'"" lDfTGlJ191I1liDI!JIlb C'P.;;.$l IU I1lfT60T<!91ri.Jffil1lfT16';; ffi<!9i!iu u (ij\GlJ191"'"i91?

(A) /fLLI1l""lDlb (B) Q/fIUG\JfTLIl1.;; @i@

(C) P,~~i91"'lD (D) QIfli.J~ l1liDl!JIlb G@6lTlbulJ~i91"'lD
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78. Which one of the following is the modem state?

~ The welfare state " (B) Communist state
(C) Capital state (D) Feudal state

, 8;f9$ooLGlJrtJ!PIcir GTi9Ip;di6lll $ITQ) .&Ilf"? .

(A) lD8;$cir P;Q) .&Ilf"

(C) (lpiEQ)ITa~::1;i91GlJ .&Ilf"
(B) "LO!Jd,6IlII" .&Ilf"

(D) )fIQ)uL51lfLj::1;i9IGlJ .&Ilf",

79. World consumer day is celebrated on
~ March 15 . '

(C) March 14
(B), March 16
(D) March 11

"-.Q)$ IDJ$irGGlJrTf'r ~6!TLO m'or!PI Q$ITooLITLUU(i)SJWi91?

(A) lDITir•• 15 (B) lDrTf'rif16

(C) lDITir•• 14 (D) lDrTf'r•• 11

80. The nlajor objectives of developmental planning in India may be listed as follows:

1. To expand employment opportunity

2. Universal immunization

only 3 is correct

3. To Remove bottlenecks In agriculture manufacturing industry' and the balance of
payments

1, 2 and 3 are correct'
only 1 and 3 are correct
,only 2 and 3 are correct

(A)

~
(C)
(D)

.@ )i;~UJ GlJGrTf'r••••1~ L-LuSI (i) iEGl5IGirriE"" Q)UJ ITUJ G)!i IT8;$ rliJ$"" m 8; f9$00 L GlJIT!PIGlJrfl""" U u(i) ::1;iEQ)ITLO

1. GGlJ"" Q)GlJrnu U Lj$"" m GlS1rflGlJIT8;@iiEGU

2. "-.Q)$.&ImGlS1GU Gp;rnuiE(i)ULj (lp""!D

3 , GGlJmIT00 "" lD, "-. rtJu ::1;~::1; Q iE IT\9IrtJ"IT""Q) lDrtJ!PILO GlJITGWIu.. Q "W::1;i91 "lD )fI "" Q) q\,SJ UJQJ rtJ!D1GU
GlJmir ••a::1; iE "" L$""m .&I$ rtJ!PIiEGU

(A) 1,2 lDrtJ!PIUl 3"rfl

(B) 1 lDJD!PILO3 lDL.,(i)GlD "rfl

(C) 2u,rtJ!PILO 3 lDL.,(i)GlD "rfl

(D) 3 lDL.,(i)GlD "rfl
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, 81. . India Contributes.-----% of the world sugar production.

(A). 12 (B) 18

~ 15 (D) 17

12

15

"-6\lffi IfrT8;ffirn~ "-rDU~::5Il6l"" ------d11(cg8;ffiITL"l-rn..-r ~)t::5lIlJIT QUrD!!JIrnmi!jl.

(B) 18

(D) 17
(A)

(C)

82. The.process of industrialization is the essential pre-requisite for

(A)

(B)
~
(D)

Generating employment

Inducing investment
Achievingeconomicdevelopment

Increasing per capita income

QiOIT~"" 11l1lJ11lIT8;@jiO""~iOrD@j uSlffiCY'8;.$1llJl1lIT..-ri!jlqf,@jLb

(A) G:QJrn6\lQJITUJurnuu QU@8;@jiO""

(B) (Yl6\liO..-r~rn iO~ i!jIT";'"(j)\~""

(C) QUIT@mITiOIT~ QJ6TTrT,,81rnllJ <!>IrnLiO""

(D) i06\lIT QJ@l1lIT..-r~rniO "-llJrT~i!jIiO""

, 83. The financial requirement of industries for the short term may be to meet ------
. re~rement.
~ . Working capital

(B) Fixed capital

(C) Current capital
(D) Short term capital

Q iOIT~ rDIfITrn6\lffim1oiIT )£1::51~G:iOrnQJ GToiITui!jI @j!!JI.$11lJ ffiIT6\l <!>ImlO1Sl"". ------

)£1rn!DGQJ rD!!JI10m 6\l @jp5lu L!iI(j)\QJ10IT@jLb.

(A) )Drn LCY'rn!D (Yl6\liOmLb

(B) )£1~)tiO~ (Yl6\liOmLb

(C) )DLUlj (Yl6\liO..-rLb ,

(D) @j!!JI.$1llJffiIT6\l(Yl6\liOmLb
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84. The plan of Non-Cooperation was approved by the Indian National Congress which session

.~ Indian National Congress - Nagpur

. (B) Indian National Congress - Lahore

(C). Indian National Congress - Mumbai

(D) Indian National Congress - Chennai

"9:i;~"'~LUIT"'LD ~LU8;iliU:'" UlD!!5ILUi!iIL..LlD "-)iii" ~L:i;i!iI6U )D"'LQulDiD iliITffiJ1I:lgGiuLDIT)DITL.."l-6U'iflDW8;

QiliIT.:rrmu U L..L~.

85. Who founded the Bharathmatha Association?

(A) MadanLal Dhingra

(B) Lala Hardayal

.# Nilakanta Bramachari .

(D) Ajith Singh
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86.' In which two consecutive years, Subash Chandra Bose was the President of the Indian

National Congress?

..vtf' 1938 and 1939

(B) 1939 and 1940

(C) 1940 and 1942

(D) 1937 and 1938

8"p;iiS ~C'9 ""Ib.,;".Gilbm QiiSITLn-P;i!)l. IbUIT"", lfp;ibI~C::u ITGiu~p;ibIlU C::iiS81lUIbrriliJ£I~onSI6irriiS"'Q)6lJ~ITIb ~C'9P;iiSITn-?

(A) 1938 LDlDlJ)IW1939

(B) 1939 LDlDlJ)IW1940

. (C) . 1940 LDlDlJ)Iw1942

(D) 1937 LDWlJ)IW1938

87. Whowas the General Secretary of the Congress Socialist Party?

(A)' E.M.S. Numbudri

# Jai Prakash Narain .

(B) Rammurti

(D) S.M. Joshi

(A) ~.8"W8"Giu. )!iwkJ,ibIrTl

(C) Q1>.llUt5l~lbIT"", )!irr~ITlU";'"

(B) ~ITLD(Yln-~ib1

(D) 8"Giu.8"W. C::1>.lITonSI

88. The radius of a circular park is 63 m. Find the cost of fencing it at Rs. 12 per meter
~ Rs.4,752 (B) RS.7,452

(C) Rs. 4,572 (D)Rs. 4,672

~C'9 6lJL.L 6lJLq-6lJ kJ,iliJlbIT6lSl6irr""Ib~w 63 tIl ""Ib@jw, ~C'9 tIlL.LC'98;@) (1lj.126liiiSw, ~iiS..,rn", Ib!b!Dl C::6lJQ\l ..

C::UITL ""Ib@jW QIfQ)6lj 8"6irrrn?

(A) (1lj4,752

(C) (1lj.4,572 .

33

(B) (1lj.7,452

(D) (1lj.4,672
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89. HCF of m+l m+2 m+8a ,a ,a.

(A) am•6

(C)

~ anl+l

(D) a

m+l m+2 m+3 -.Cl .,.,Q. . lobIi ?a ., a ,a ~&ILlJQJ,!D).!J'JD8irr6OTLD.\olurr.6lJ. 6T~

(A) am+6

(C) _ am- (D) a

90. A sum of money quadruples itself in 24 years under s-impleinterest'scheme then rate of
interest is

(A)

(C)

12.3%

10%

~ 12.5%

(D) 22%

(A)

(C)

12.3%

10%

(B) 12.5%

(D) 22%

91. The first man who draw a map with latitude and longitude is

...JIIf Ptolemy

(C) Alexander

(B) Anaximandor

(D) Erotasthanes

(A) urruuS1
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93. If II! and n are whole numbers such that IlL" = 121. Then find (II! - 1),,+1

94. Deepa and Arun can do a piece of work in 20 days and 30 days respectively. They work
together and D.eepa lea";es 5 days before the work is finished. Arun finished the remaining
work alone. In how many days is.the total work finished?

$" 15 days (B) 18 days

(C) 12 days (D) 20 days

(B) 1000
(D) 1020

(B) (x" - 1)(x + 1)

(D) (x + 1)3 (x" - I)

"""" 1000
(D) 1020

..L' (x3 -I)(x + I)

(D) (x +1)3 (x" ~ I)

are x + 1 and Xli - 1 respectively. If one of the

(x6
- l)<x + 1) .

(x + 1)(x6 -1)

(x + 1)(x6 -1)

(A) 800
(C) 900

(A) .800

(C) 900

f@(19 ubiJW~uLjIi; GffiIT(;OJQJfficl16irr uHluIT.flL LD0~w Ul.QUIT.LD C'P(;OJiDGUJ x + 1 LD0~w x6 - 1 GLDWW

9(19 ubiJW~uLjIi; GffiIT(;OJQJ x3 + 1 Gf60flbiJ LD0iD(;OJQJIi; ffiIT6Mrffi.

(C)

(A)

(C)

The OCD and LCM of two polynomials

polynomials is x" + 1 find the others

.(A) (x'- l)<x + 1)

92.

P,UIT LD0~w ~(196Mr ~£lG~ITIT 9(19 GQJ(;OJQ)(;OJUJ C'P(;OJiDGUJ 20 )DITLffi6TT LD!D~W 30 )D.ITLfficl1biJ QlfuJ~

C'P "l-U U IT. ~ QJ ITffi6TTf@(I9QJ(I9w f@(;OJ""")i; ~ G:QJ (;OJQ) Q IfuJ UJ Q !bITLffiJ@)£l6irriD61lTIT. P,U IT GQJ (;OJQ) C'P "l-QJ!b 0@)

5 )!iITLffi6TT C'P6irr6"6T!bITffii£16irr~ 6lSl~41iDITIT. ~(196Mr !b6OflUJITffi G:QJ(;OJQ) QlfuJ~ ~)i;!b G:QJ(;OJQ)(;O)UJC'Ptq:Ii;41iDITIT

Gf60flGiJ~)i;!b G:QJ(;O)Q) Gf~!b(;o)6"6T)!iITLfficl1GiJ C'P"l-QJ(;o)LU.jW?

(A)

(C)
15 )!iITLffi6TT

12 )!iITLffi6TT

(B) 18)!iITLffi6TT.

(D) 20 )!i.ITLffi6TT

\
!
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95. Sixty metres ofa uniform wire weighs 80 kg. What will 141 metres of the same wire weigh?

(A)

(C)
172 kg

182 kg

(B) 168 kg

\JJIIf 188 kg

60 LOLLIT I16lTQPffi6lT 6~1T6llT ffilfll51u516'oT GT6'lL 80 8J.8J.GT61>Il6iJ,141 LOLLIT I16lTQP.ffi6lT, ~G!b ffiUll51u516'oT GT6'lL

GT6i.J6U 6lTGlj?

(A) 172 kg

(C) 182 kg

(B) 168 kg

(D) 188 kg

96.. 2X
+

13 = 4x+2 then find the value of x

(A) x = 13 (B) . x = 10

~ x=9 (D) x=7

2X
+
13 = 4x+2 .~~Q) x -Qr LD~ULt C1iJTGlRrr

(A) .x = 13 (B) x = 10

(C) x=9 (D) x=7

97. .11 1 A
If A = 1 + - + - + - and B = 1 + - then B exceeds A by

2 4 8. 2

(B) 1
8

3(D) 2

A1111" 'B1A...n'B A .... ,fl'= + - + - + - '-'LDWLD = + - GT",,,6I) -LUIT6llT:1jI -l£ffi ffiITL"l-WLD GT6U6U6lTGlj ~~,ffiLD?, 248' 2

2

1(B) .
8

3(D)

1
16

1
4

(A)

. (C)
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98. The difference between
nu~er is

~ 768
(C) 1024

90% of a number and 72% of a number is 256.then 54% of that

(B) 652
(D) 512

~IT GT~OO16N 90% LD!DiJ)JLn<!9jG~ GT~.m16N 72% qj,£IlUGlJ!DiDl6N~Ii;~lUIT8'Ln 256 GTbOIlQj <!9jG~ GT~.m16N
54% GT6NU~ GT6N6OT? .

(A) 768. (B)' 652

(C) 1024 (D) 512

99. How many rectangles are there in the given figure?

I====rn •
(A) 24 . ~19'
(C) 22 (D) 14

1

(A)
(C)

24
22

====rn (B) 19
(D) 14

100. 3 . .' 4 .
A man reads 8 ofa bookon a day and 5 of the remainder, on the second day. If the number.

of pages still unread are 40, how many pages did the book contain?
(A) 240 (B) 310

'" 320 (D) 415

9(19GlJ IT 9(19 LjIi;~/hIi;~6N ~ LDL""@) U8;/h"" /h""ffi C'P~Qj )!i ITGTf1@11Ln. Lfj~C'Pmffi U8;/h""/hQf16N i LDL""@)
8. 5

U 8;/h"" /h"" ffi ,@ g ~ LIT GlJ~ )!i ITGTf1@IILn U "\-8;£1 iDITIT . <!9jGlJIT U "\-8;/hITLD6il ,@(198;@)Ln U 8;/h riu /h GTf16NGT~ 0018;",,/h
40 GTbOIl6il. <!9jU Lj Ii;~/hli;~ Qj ,,-m ffi U $/h riu /h GTf16NGT~ .m18;",,/h lU IT~ ?

(A) 240 (B) 310
(C) 320 (D) 415
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